Manifold Variations: VV3Z4

Series VZ400
Manifold Specifications

Model
VV324-50-061-01 Manifold type Single base, B mount V1 00
Passage Common SUP/EXH type L
Valve stations Max. 20 stations SY
Manifold base model | VV32Z4-20 | VV3Z4-30 VV3Z4-50 VV3Z4-S50 L
Individual exhaust | Common exhaust Common exhaust Common exhaust
Built-in One-touch fittings | Built-in One-touch fittings SYJ
Pilot valve exhaust VK
2(A) E(lggtgi;o?]lrechon/ Top/Valve Side/Base (Opposite side of solenoid) (Samselg:iae/ oBfijsnoid) VT
ort L
g Port size Rc 1/8 Rc1/8,1/4 | _ ©C6,C8 Ce,C8 —
P, E port | Port size Rc 1/4 Rc 1/4 VP
Aoplicabl VzZ412000-01 VZ415-000 —
vglse'cr‘; ogel VZ4220000-01 VZ425-000 VG
Body ported Base mounted (Without sub-plate)
Blanking plate VVZ400-31A-1 | WWZ400-3241 | VVZ400-32A-2 | VVZ400-31A-2 VP
VV324-50-061-C8 —
Screws and Gasket Assembly Part No. S070
Model Part no. ——
VV3Z4-20 BG-VZ402 VQ
VV374-30 BG-VZ403 L
VV324-50
-850 BG-VZ405 VKF
How to Order Manifold Base
l
Series VZ400 | A port size on base side VFN
Manifold ] VV3Z4-50
. ——— Symbol Symbol VV3Z4-S50 *
Stations Sytal Passage oo ] . Without 2(A) port
02 | 2satons SN[ 1) | 8(R) | 2(a) | /Prlicablebase Nil 1 (Body ported type 20, 30)
: : ) 01 Rc 1/8
20 | 20 stations 1 |Common|Common| Top, Side | Type 20, 30 and 50 02 Rc 1/4
. . . . cé Built-in One-touch fittings
Manifold specifications/Single base type Applicable tubing O.D. 66
B mount (P/E port size) . Built-in One-touch fittings
Symbol Pioin P, E port | Applicable valve Applicable tubing O.D. 28
ymbo iping Port size model + \/V3Z4-850: only C6 & C8.
Body ported
20 (Individual pilot exhaust) Re 1/4 VzZ402 Instruct by specifying the valves, blanking plate option to be mounted on
Body ported the manifold along with the manifold base model no. And for the order of
b valves installation or option’s position, instruct separately by the manifold
30 (Common pilot exhaust) Ro1/4 vzar2 specification sheet.
Base mounted (Example)
50 l(Colmr.‘non pilot exhaust) Rc 1/4 VZ405 <Top ported, common pilot exhaust>  <Side ported, common pilot exhaust>
2(A) port direction: opposite side of solenoid valve VV3Z4-30-061 (6 stations) VV3Z4-S50-061-C8 (6 stations)
Base mounted x§412-1g-01 ------ 3 pcs. x§415-5t -------- 3 pcs.
S50* (Common pilot exhaust) Rc 1/4 VZ405 412-1G-01------ 2 pcs. ) 415-5L----- 3 pcs.
2(A) port direction: same side of solenoid valve VVZ400-32A-1-----1 pc. (Blanking plate)

Q * Type S50 is available only with built-in One-touch fittings.

O

<Side ported, common pilot exhaust>
VV3Z4-50-061-01 (6 stations)
VZ415-1Geeeeeeeenes 3 pcs.
VZA425-1G:weeeveenees 2 pcs.
VVZ400-32A-2-----1 pc. (Blanking plate)

SvVC

4-15-15



Series VZ400

Dimensions: Individual Exhaust/Common Exhaust

Individual exhaust: VV3Z4-20

(G) 5 (U ; (M) )
2-05.3 n-Rc1/8 4-Re 1/4 o 545 S 549 z
mounting hole' 9 _% 4Rele  o| £ 4Ro¥s  of g 4-Rc514/f g
NG ° S S -
SN g e & ag 2 ‘ o & R
g T S 3 +t++Dics 2 N E 3 +PXt
o 8l @ ? pe| W 2 e | || “ = b | u? G %7 Be |
) < . k=) = ol
® | | @ . = o E(5 , ~ £ ‘ S
Manual override & ‘ ’pw == il =3 TTTT \pi tE:«zH - Pilot EXH
: ~ ilo \
(Non-locking) ‘ 0 ’ Pilot EXH I il e l
= e L]
e L =300 =300 7 JEl 773 =
2 (Lead wire length) (Lead wire length) g- 62 85 %
o= 65 s
S|
TV TI WE
©
} 3
o 1 I o
Al HRE
n: Stations
g 2 [ 3] 4[5 [ 6] 78] 910 Formula
L1 50 | 69 88 | 107 | 126 | 145|164 | 183 | 202 | L1 =19n + 12
L2 78 | 97 | 116 | 135|154 | 173 | 192|211 | 230 | L2=19n + 40
Common exhaust: VV3Z4-30
(G) (L) (M) (D)
I} S
% % 5
o o 2
Q. a a
2-95.3 S 57 Ey 57 & 57
mounting _ 1266, o 266 - 266 3 26.6
hole P=19 295, 1R 1/8 LI 2 216 4 316 o 216] .
‘ ) - S r_.ﬁ s 105 £ ]
= T e i ! L [ ]
QL T EE e es & RSP & | AE ST 8 Al
® 3 1€y S - i ) 2 0 S 2 PN ) s -
CNERNEER JL 4 : LR £ | «l9rEe, £ oD 28, | 2 BT
8 W - oS Fibalel® =) ope| Jmﬁm 2| mel |“Bae® | 5 B¢ el o
Jelalal | 5 1SS | 5| Fratyte | s SR e s —PA'@*& 3
1 i | o = — 1 ) 5 =
Manual i \ ‘ 0 o ‘ { \ 4-Rc 1/4 = r i ARc 1/4 g/\ ; = IS ==7
{(Non-locking) \ 2.M5 x 0.8 Eé \ | 2-M5 x 0.8 % ; -
Pilot EXH Qo
14 J t‘ | (Pilot EXH) 09 I (Pilot EXH) ge :U
2 = i 735 =
(Lead wire length) (Lead wire length) il ;
[}
B4k <
& 8. ‘ @’
N 5 i @F o I @) ‘
% | ]
N Il
n: Stations
o 2 | 3 4[5 [ 678|910 Formula
L1 50 | 69 88 | 107 | 126 | 145 | 164 | 183 | 202 | L1 =19n + 12
L2 78 | 97 [116 | 135|154 | 173|192 | 211 | 230 | L2=19n + 40
4-15-16

O




Dimensions: Common Exhaust

3 Port Solenoid Valve .
Metal Seal, Body Ported/Base Mounted Series

VZ400

O

Common exhaust: VV3Z4-50 (G) (L) (M) (D)
With light/surge voltage
suppressor
67.5 o
_ With light/surge voltage — 87.5 %
=300 . [—r—
(Lead wire length) =300  Suppressor ! 8 =% 799 -
P=20 5 2.M5 x 0.8 (Lead wire length) g o
Manual ‘ (Pilot EXH) 2.M5x0.8 2-M5 x 0.8
override SIEAIEAIED PN (Pilot EXH)
(Non-locking)\|! [ | l | N | (Pilot EXH) . Akyaly| | pres—
i B & 8 P P ¥ AN Dol
[’r‘ [ 1 ‘ 3 Q i u@ :I‘% % E_\é ﬁ V1 00
3 518 &Lf' i“ ! ; iyl Pl 23 nr} o 3
[ | S | - g o S
ALY bl ol e sy /DR |SY
2-95.3 \ L — 4Rc1/4/ | g5 54| [Rci/4 10.5 —_—
i . Y o9
o cil | A | [sw
TR T K —
n-Re1/8, 1/4 ﬂ‘%‘ HJ‘L\ “f" i VK
e P Jj N —
© AFLTRAFTL AT A ©
’ L@ q} @q K’:?@[gl n: Stations VZ
35 ) Aport Re 1/8 ool 2 [ 3] 4567 [ 8] 9]10 Formula —
Li | 51| 71 | 91 [ 111131151 171|191 |211| Li=2on+11_ |VT
L2 76 | 96 [ 116 | 136 | 156 | 176 | 196 | 216 | 236 | L>=20n + 36 —
Common exhaust: VV3Z4-50 (Built-in One-touch fittings manifold) M VP
(G) (L) (M) (D) T
With light/surge voltage VG
suppressor o
L side With light/ e
=300 voltage 0 3| VP
P =19295 Manual (Lead wire length) =300 suppressor e
2-95.3 override 2-M5 x 0.8 (Le?d wire lepgth) , 4 —72-M5x 0.8 T
mounting (Non- \ z |1 2 S070
hole locking) mm\ﬁ 1T W e
; b s 3 34 ) s
© L [ B+, VQ
T g ySpAcR — o Il
SISV AR R R BN B O —
R PPt o i R— || |VKF
W L R side 4-Rc 1/4 4-Rc 1/4 4-Rc 1/4 4-Rc14 | ———
E; vVQz
MUK P
1 9 7 ‘—ﬁl{ﬁ ~
3 *@@'@@@7 —‘ =° n: Stations
R o 2 [ 3] 456789 10] Fomua
L1 50 | 69 88 | 107 | 126 | 145 | 164 | 183 | 202 | L1 =19n + 12 VFN
L2 78 | 97 [ 116 | 135|154 | 173|192 211|230 | L2=19n + 40 L
Common exhaust: VV3Z4-S50 (Built-in One-touch fittings manifold) .
o
(G) (L) (M) g (D)
With light/surge voltage With light/surge voltage g
Lo suppressor suppressor e
- Lt 14 4-Rc 1/4 614 4Rci/4 g
R side 4Rc1/4 | 614 s
| , 2-M5x 0.8 ®
B i T3
) ' 3 ‘é’
roS 1] F g E of 2
2:05.3 \ | 3 ° £
mounting hole {IAR Ei : ﬁ 2-M5x0.8 o~
Faoo™ ]
) 8 =300 31 S %: 0]
(Lead wire length) (Lead wire length) A (m
779 k= 843 | )
3 92 %
@©
=
n: Stations
<
g s 2 [ 3| 4] 5[ 6| 78] 910 Formula
E L1 50 | 69 88 | 107 | 126 | 145|164 | 183 [ 202 | L1 =19n + 12
L2 78 | 97 [116 | 135|154 | 173|192 211|230 | L2=19n + 40
4-15-17



	VV3Z4: Manifold Base
	Dimensions



